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which of the grophs is "easier" to cut

into two
finces ?

⑫. The rusty of a cut (A
,
B) in

a graph G is :

an
where vol(5)=[ degree

The Cuniform sparsest cut problem asks

form voiex set S
,
V that

minimizes sparsity )5 ,
v-5).



Generalization of sparsest cut.

we have b source-dest pairs . ((Si ,tili
We're looking for an edge set C that

separates at least one pair.
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and eve pair
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=
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Born vol(A)
,
vol(B) -> vol(V) and

vol(A) + ro(() = vol(v)

so max(vol(t)
,
voL(B13 : Evol(V).



Sowininiting sparsity (C) minimizes the

the sparsity objective within a factor

of 2-

For kil this is the st runh cat problem.

~New
Concurrent MulticommodityFlow (i . e. value

M

Simultaneously find a flow of rate

from every
s : to ti , while

respecting capacity constraints on edge.

Maximize r.
& paths from so to ti

net D= P(siti)
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A solution feasible for the about dua LP

will be called a "fractional cut"


